

2021 The Masters Statistics

| Rank | Player | | Putts | Putts in GIR | Three Putt Greens | Sand Saves |
|------|---------------------|-----|-----------------------------------|-----------------------------------|----------------------|-----------------|
| T1 | Leishman, Marc | AUS | 26 over 18 holes, 1.44 average | 20 over 13 holes, 1.54 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Kim, Si Woo | KOR | 29 over 18 holes, 1.61 average | 23 over 13 holes, 1.77 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Palmer, Ryan | USA | 29 over 18 holes, 1.61 average | 23 over 13 holes, 1.77 average | 1 of 18 (5.56%) | 1 of 1 (100.00% |
| T1 | Smith, Cameron | AUS | 27 over 18 holes, 1.50 average | 20 over 13 holes, 1.54 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Conners, Corey | CAN | 30 over 18 holes, 1.67 average | 23 over 13 holes, 1.77 average | 1 of 18 (5.56%) | 2 of 2 (100.00% |
| T1 | MacIntyre, Robert | SCO | 28 over 18 holes, 1.56 average | 18 over 11 holes, 1.64 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Lowry, Shane | IRL | 32 over 18 holes, 1.78 average | 23 over 13 holes, 1.77 average | 2 of 18 (11.11%) | 2 of 2 (100.00% |
| T1 | Rahm, Jon | ESP | 31 over 18 holes, 1.72 average | 22 over 11 holes, 2.00 average | 1 of 18 (5.56%) | 3 of 3 (100.00% |
| T1 | Na, Kevin | USA | 30 over 18 holes, 1.67 average | 25 over 14 holes, 1.79 average | 0 of 18 (0.00%) | 2 of 2 (100.00% |
| T1 | Hatton, Tyrrell | ENG | 28 over 18 holes, 1.56 average | 16 over 9 holes, 1.78 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Schwartzel, Charl | RSA | 28 over 18 holes, 1.56 average | 21 over 12 holes, 1.75 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Molinari, Francesco | ITA | 28 over 18 holes, 1.56 average | 17 over 11 holes, 1.55 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Poulter, lan | ENG | 25 over 18 holes, 1.39 average | 15 over 8 holes, 1.88 average | 0 of 18 (0.00%) | 4 of 4 (100.00% |
| T1 | Walker, Jimmy | USA | 29 over 18 holes, 1.61 average | 17 over 10 holes, 1.70 average | 0 of 18 (0.00%) | 3 of 3 (100.00% |
| T1 | Kuchar, Matt | USA | 27 over 18 holes, 1.50 average | 20 over 12 holes, 1.67 average | 1 of 18 (5.56%) | 1 of 1 (100.00% |
| T1 | Griffin, Lanto | USA | 31 over 18 holes, 1.72 average | 24 over 13 holes, 1.85 average | 1 of 18 (5.56%) | 1 of 1 (100.00% |
| T1 | Pan, C.T. | TPE | 30 over 18 holes, 1.67 average | 22 over 13 holes, 1.69 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Frittelli, Dylan | RSA | 29 over 18 holes, 1.61 average | 16 over 8 holes, 2.00 average | 1 of 18 (5.56%) | 1 of 1 (100.00% |
| T1 | Perez, Victor | FRA | 28 over 18 holes, 1.56 average | 19 over 11 holes, 1.73 average | 0 of 18 (0.00%) | 1 of 1 (100.00% |
| T1 | Gay, Brian | USA | 30 over 18 holes, 1.67 average | 19 over 10 holes, 1.90 average | 2 of 18 (11.11%) | 1 of 1 (100.00% |
| 21 | Lyle, Sandy | sco | 31 over 18 holes, 1.72 average | 21 over 11 holes, 1.91 average | 1 of 18 (5.56%) | 4 of 5 (80.00% |
| 22 | Spieth, Jordan | USA | 28 over 18 holes, 1.56 average | 23 over 14 holes, 1.64 average | 0 of 18 (0.00%) | 3 of 4 (75.00% |



2021 The Masters Statistics

| Sorted by Sand Saves Three Putt | | | | | | |
|---------------------------------|----------------------|------|-----------------------------------|-----------------------------------|---|---|
| Rank | Player | | Putts | Putts in GIR | Greens | Sand Saves |
| 23 | Olazabal, Jose Maria | ESP | 22 over 18 holes, | 10 over 7 holes, | 0 of 18 (0.00%) | 3 of 5 (60.00%) |
| | | | 1.22 average | 1.43 average | | |
| T24 | Morikawa, Collin | USA | 27 over 18 holes, | 20 over 13 holes, | 1 of 18 (5.56%) | 1 of 2 (50.00%) |
| | | | 1.50 average | 1.54 average | | |
| T24 | Jones, Matt | AUS | 31 over 18 holes, | 28 over 16 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| | | | 1.72 average | 1.75 average | | |
| T24 | Stenson, Henrik | SWE | 29 over 18 holes, | 21 over 12 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| | | 1104 | 1.61 average | 1.75 average | 0 (40 (0 000() | 4 (0 (50 000() |
| T24 | Horschel, Billy | USA | 30 over 18 holes, | 22 over 11 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| T24 | Pargar Danial | USA | 1.67 average 29 over 18 holes, | 2.00 average 16 over 10 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| 124 | Berger, Daniel | USA | 1.61 average | 1.60 average | 0 01 16 (0.00%) | 1 01 2 (50.00%) |
| T24 | Willett, Danny | ENG | 28 over 18 holes, | 14 over 9 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| 124 | Willett, Darling | LING | 1.56 average | 1.56 average | 0 01 10 (0.0070) | 1 01 2 (30.00 70) |
| T24 | Koepka, Brooks | USA | 32 over 18 holes, | 22 over 12 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| | reopha, Brooks | 00/1 | 1.78 average | 1.83 average | 0 01 10 (0.0070) | 1 01 2 (00.0070) |
| T24 | Johnson, Dustin | USA | 32 over 18 holes, | 18 over 10 holes, | 4 of 18 (22.22%) | 1 of 2 (50.00%) |
| | , | | 1.78 average | 1.80 average | , | , |
| T24 | Westwood, Lee | ENG | 28 over 18 holes, | 19 over 11 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| | | | 1.56 average | 1.73 average | | |
| T24 | McIlroy, Rory | NIR | 26 over 18 holes, | 17 over 9 holes, | 0 of 18 (0.00%) | 1 of 2 (50.00%) |
| | | | 1.44 average | 1.89 average | | |
| T24 | Woosnam, lan | WAL | 27 over 18 holes, | 13 over 7 holes, | 1 of 18 (5.56%) | 1 of 2 (50.00%) |
| | | | 1.50 average | 1.86 average | | |
| T35 | Champ, Cameron | USA | 29 over 18 holes, | 22 over 13 holes, | 0 of 18 (0.00%) | 1 of 3 (33.33%) |
| | | | 1.61 average | 1.69 average | | |
| T35 | Todd, Brendon | USA | 27 over 18 holes, | 18 over 11 holes, | 1 of 18 (5.56%) | 1 of 3 (33.33%) |
| TOF | Kalmak Jasan | 1104 | 1.50 average | 1.64 average | 0 -f 40 (44 440/) | 4 of 2 (22 220/) |
| T35 | Kokrak, Jason | USA | 30 over 18 holes, 1.67 average | 16 over 9 holes, 1.78 average | 2 of 18 (11.11%) | 1 of 3 (33.33%) |
| T35 | Day, Jason | AUS | 26 over 18 holes, | 12 over 7 holes, | 0 of 18 (0.00%) | 1 of 3 (33.33%) |
| 100 | Day, Jason | 700 | 1.44 average | 1.71 average | 0 01 10 (0.0070) | 1 01 3 (33.3370) |
| T35 | Long, Joe (a) | ENG | 33 over 18 holes, | 25 over 13 holes, | 0 of 18 (0.00%) | 1 of 3 (33.33%) |
| | 9, () | | 1.83 average | 1.92 average | (| (|
| T35 | Mize, Larry | USA | 31 over 18 holes, | 16 over 8 holes, | 1 of 18 (5.56%) | 1 of 3 (33.33%) |
| | • | | 1.72 average | 2.00 average | , , | , |
| T41 | Rose, Justin | ENG | 33 over 18 holes, | 28 over 15 holes, | 1 of 18 (5.56%) | 0 of 1 (0.00%) |
| | | | 1.83 average | 1.87 average | | |
| T41 | Wiesberger, Bernd | AUT | 25 over 18 holes, | 21 over 14 holes, | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| | | | 1.39 average | 1.50 average | | |
| T41 | Matsuyama, Hideki | JPN | 32 over 18 holes, | 26 over 14 holes, | 1 of 18 (5.56%) | 0 of 2 (0.00%) |
| | | | 1.78 average | 1.86 average | | |
| T41 | DeChambeau, Bryson | USA | 29 over 18 holes, | 25 over 15 holes, | 0 of 18 (0.00%) | 0 of 2 (0.00%) |
| | | | 1.61 average | 1.67 average | | |



2021 The Masters Statistics

| Sorted by Sand Saves Three Putt | | | | | | |
|---------------------------------|--------------------------|---------|-----------------------------------|-----------------------------------|-------------------|------------------|
| Rank | Player | | Putts | Putts in GIR | Greens | Sand Saves |
| T41 | Hughes, Mackenzie | CAN | 31 over 18 holes, | 21 over 12 holes, | 1 of 18 (5.56%) | 0 of 2 (0.00%) |
| | | | 1.72 average | 1.75 average | | |
| T41 | Ancer, Abraham | MEX | 29 over 18 holes, | 23 over 14 holes, | 0 of 18 (0.00%) | 0 of 2 (0.00%) |
| | | | 1.61 average | 1.64 average | | |
| T41 | Woodland, Gary | USA | 29 over 18 holes, | 22 over 13 holes, | 1 of 18 (5.56%) | 0 of 1 (0.00%) |
| | | | 1.61 average | 1.69 average | | |
| T41 | Scheffler, Scottie | USA | 33 over 18 holes, | 29 over 15 holes, | 2 of 18 (11.11%) | 0 of 1 (0.00%) |
| T 4 4 | | | 1.83 average | 1.93 average | 0 (10 (0 000()) | 0 (0 (0 000()) |
| T41 | English, Harris | USA | 25 over 18 holes, | 14 over 9 holes, | 0 of 18 (0.00%) | 0 of 2 (0.00%) |
| T44 | De ed Detriele | 1104 | 1.39 average | 1.56 average | 0 - £ 40 (0 000() | 0 - f 4 (0 000() |
| T41 | Reed, Patrick | USA | 30 over 18 holes, 1.67 average | 19 over 10 holes, 1.90 average | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| T44 | Mollogo Mott | ENC | 26 over 18 holes, | 17 over 10 holes, | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| T41 | Wallace, Matt | ENG | 1.44 average | 1.70 average | 0 01 16 (0.00%) | 0 01 1 (0.00%) |
| T41 | Herman, Jim | USA | 32 over 18 holes, | 30 over 16 holes, | 2 of 18 (11.11%) | 0 of 1 (0.00%) |
| 141 | Heiman, Jiin | UUA | 1.78 average | 1.88 average | 2 01 10 (11.1170) | 0 01 1 (0.00 70) |
| T41 | Simpson, Webb | USA | 29 over 18 holes, | 14 over 8 holes, | 1 of 18 (5.56%) | 0 of 2 (0.00%) |
| 141 | Cimpoch, Wess | 00/1 | 1.61 average | 1.75 average | 1 01 10 (0.0070) | 0 01 2 (0.0070) |
| T41 | Bezuidenhout, Christiaan | RSA | 27 over 18 holes, | 14 over 8 holes, | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| | , - | | 1.50 average | 1.75 average | , (, , , , | (, , |
| T41 | Mickelson, Phil | USA | 32 over 18 holes, | 27 over 14 holes, | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| | | | 1.78 average | 1.93 average | , , | , |
| T41 | Munoz, Sebastian | COL | 29 over 18 holes, | 18 over 11 holes, | 1 of 18 (5.56%) | 0 of 1 (0.00%) |
| | | | 1.61 average | 1.64 average | | |
| T41 | Casey, Paul | ENG | 33 over 18 holes, | 23 over 12 holes, | 1 of 18 (5.56%) | 0 of 1 (0.00%) |
| | | | 1.83 average | 1.92 average | | |
| T41 | Homa, Max | USA | 28 over 18 holes, | 16 over 9 holes, | 0 of 18 (0.00%) | 0 of 2 (0.00%) |
| | | | 1.56 average | 1.78 average | | |
| T41 | Garcia, Sergio | ESP | 31 over 18 holes, | 21 over 12 holes, | 1 of 18 (5.56%) | 0 of 1 (0.00%) |
| | | | 1.72 average | 1.75 average | 2 6 42 444 4424 | |
| T41 | Kisner, Kevin | USA | 35 over 18 holes, | 26 over 12 holes, | 2 of 18 (11.11%) | 0 of 1 (0.00%) |
| | Otrock Dahart | 1104 | 1.94 average | 2.17 average | 4 - £ 40 (5 500() | 0 -40 (0 000() |
| T41 | Streb, Robert | USA | 28 over 18 holes, 1.56 average | 14 over 9 holes, 1.56 average | 1 of 18 (5.56%) | 0 of 2 (0.00%) |
| T41 | Langer, Bernhard | GER | 31 over 18 holes, | 18 over 9 holes, | 1 of 18 (5.56%) | 0 of 1 (0.00%) |
| 141 | Langer, Deminaru | GEN | 1.72 average | 2.00 average | 1 01 18 (3.30 %) | 0 01 1 (0.00 %) |
| T41 | Ortiz, Carlos | MEX | 29 over 18 holes, | 20 over 11 holes, | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| 171 | Ortiz, Garios | IVILX | 1.61 average | 1.82 average | 0 01 10 (0.0070) | 0 01 1 (0.0070) |
| T41 | Swafford, Hudson | USA | 33 over 17 holes, | 13 over 6 holes, | 1 of 17 (5.88%) | 0 of 2 (0.00%) |
| | ., | 2 = 7 · | 1.94 average | 2.17 average | (3.33.73) | = (3.0070) |
| T41 | Couples, Fred | USA | 29 over 18 holes, | 15 over 8 holes, | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| | i , | | 1.61 average | 1.88 average | (, | () |
| T41 | lm, Sungjae | KOR | 34 over 18 holes, | 22 over 10 holes, | 2 of 18 (11.11%) | 0 of 1 (0.00%) |
| | | | 1.89 average | 2.20 average | , , | , |



2021 The Masters Statistics

| Sorted by Sand Saves | | | | | | |
|----------------------|---------------------|-----|-----------------------------------|----------------------------------|----------------------|----------------|
| Rank | Player | | Putts | Putts in GIR | Three Putt Greens | Sand Saves |
| T41 | Singh, Vijay | FIJ | 31 over 18 holes, 1.72 average | 16 over 9 holes, 1.78 average | 0 of 18 (0.00%) | 0 of 1 (0.00%) |
| T41 | Strafaci, Tyler (a) | USA | 28 over 18 holes, 1.56 average | 10 over 5 holes, 2.00 average | 0 of 18 (0.00%) | 0 of 1 (0.00%) |